Efficiency vs dr

0.5

efficiency vs AR
=}
D

[TI11 [T
_V0001_R0O00000001__Global _CMSSW _orig
—— DQM_V0001_R000000001__Global__CMSSW_dt08
CMSSW_dt05

—— DQM_V0001_R000000001__Global__

0.95l “| ||

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |

-1

§0.2

27 0.18F

) E

T 0.16f

20.14F

> C

©'0.12F

Q s

o

S o

(] F

0.08F

0.06F

0.04F

0.02F

o+

I

o
1

AR(TP, jéY)

[Efficiency vs pu ]

5 0.5p -

o E :

Y L R T S SEISIESt SUTIS SE

g R RCR IO SRS SR

() F ,

G035 e deee e

= o

‘”0,3;— ------ 1} ........................................
0,252— ------ + ............................... SR
0.2F -4+ T g +
5*5“”‘”;" .t
015+ ohevberme e b g N
O R b R b
0.05F- e eeeseirenenes S S S
A S T T | |

g +0F : :

© r d :

b LU
MENUUEE

0936~ 30 40 50 60 70 80

Pileup



	Contents
	Page 1


